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Math 1211 — Quiz #10 Fall 2011
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(a) Sketch the parametric curve (z,y) = (sint, 3 + cost), for 0 < ¢ < 3.
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(b) Eliminate the parameter to find the Cartesian equation of the curve (z,y) =
(e*,e* — 1), for ¢ € R. Use this to sketch the curve.
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2. Consider the parametric curve (z,y) = (¢3 — 12¢,4% — 1).

(a) Find the equation of the tangent line at the point where ¢ = 1. )
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(b) Find all points (z,y) where the tangent is horizontal, and all points where the

tangent is vertical.
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(c) Find a formula for da:y in terms of ¢.

a2 [ de
A" )
o R 2R
{ z P el
&%

3. (a) Find the (:E y) coordinates of the pomts (r,0) = (2,—%) and (r,0) = (-3, ).
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(b) Find three distinct (but equivalent) pairs of polar coordinates (r, §) of the point

(z,y) = (2 Z\f)
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